PROBLEM INPUT DISPLAY
Tax rate set (e.g. 17.5%) i; i RATE
17.5 TAX%
Recall tax rate 7 g m
Add the Tax Amount OD® 120
Price £'llf(t) a:i_t'l;\(ogtl Tlx) 141 TAX+
Toen (82D 2
Subtract the Tax Amount @@ 141
Selling price with tax £141 120 TAX-
Price without tax =? (£120) TAX- 21 TAX
Tax =7 (£21)
100+-(1-20%)=125 DOOEOW 125
2+3-1=4 2 HEEDE 4
-24x6+-8=-18 2O0RHEXEE®E -1.8
2% (3+4)-5=9 OHEXZBEEE 9
3x%2.54=7.62 QEaEXAOB@E 7.62
2+3=5 2®HEE 5
443=7 @ 7
2-3=-1 2EBEE —1
4-3=1 @A 1
2x3=6 ZEEE 6
2x4=8 @B 8
2+4=0.5 2E®E 0.5
3+4=0.75 BIS] 0.75
2+3+3=8 2EEEE 8
6—2—-2=2 B3 2
2=8 2EE 8
20%25%=5 [B[O]e3]e3]E]e)] 5
5+20%=25 RO 25
20 % (1+15%)=23 OEOE® 23
20% (1-20%)=16 QOEO® 16
2%3=6 B3] €3] 3] 7] M 6
-)3x4=12 [©]e3]e3] =] M 12
+)4x5=20 AxEO® M 20
- 14 M 14
14




